| NSK

A—|—5 BBz R~TRMAFERER

A—1—51LHR%

(LHBEEFETE (B X
ANTE ek Ry DF #5 » HEMHR R
AR FIHEREE D o BES TR
SRR LG I T A R A R M RE

77 -
(2) FORBEENS
RS AR 50 - BT &
IR SRHE TR - B -5 2 BlEAE (RESE BN
(3) W ERENS
R T B e 4 SR AT
R T IO L BORH B 2 B - A ~ana wene
1 7 A T I T i |
R AW - |
(4)BRE
ST - wE ) -5 - 4
B % 5 B R - A b
e e R B1-5-3 BEHtE
() EEERMERRS (EZH) "
1R R AT 77 5 BRI nEzR
FE R AL T 7 B+ SR -
(6)ERPENZ2®E '
BT S TR AL A+ R
RFFR0 BRI - BT TIE -
RIREE  BEEARE FIRBENEE SR

() BERYE2RILER ~ : N
S I S A R % B B B 1-5-4 BEEHEAA R
i E 2 T A - a2




| LH %5 (ERRES,

)

LHRIIR Y & (FRERER)

LH-AL

LH-BL  (mxamm)
- HERRERNERRE GTELE)
LH35 0840 AN C2-PNZ0 1II
15 IRYR—E  EEHRRER
) EERS - 20 : A9
BRI RS $Z1: WIHEE
MRIREN L(SBAZE) 28 AR
"G RERME R (BBA2FI-3 1+ A26%I—4 - 2)
K R
(fZPELH15~30)
ERENZBER
®I1-5-1
HERRY BRRT
=E =52 EE ZRIEMIL B
AR
H E | W w L B J | MxEERE X/ B | L | 4 K | T| €L3L|T, | N
LH15AN 55 39| 65
28 | 46 | 95| 34 26 | 26 | M4x0.7x6 | 4 234| 8| ¢3 |85/33
LH15BN 74 58 | 16
LH20AN 69.8 36 50| 7
30 | 5 [12 | 44 32 M5x0.8x6 | 6 25 | 12|M6x0.75| 5 | 11
LH20BN 91.8 50 72|11
LH25AL | 36 M6x1x6 29 6
79 35 58| 11.5
LH25AN | 40 M6x1x9 33 10
LH25BL | 36 7 | 125 48 107 35 0 M6x1x6 6.5 a6 | 11 29 12 | M6x0.75 6 11
LH25BN | 40 M6x1x9 33 10
LH30AL | 42 M8x1.25x8 33 7
LH30AN| 45 | o | o | & 856 20 40| Max1.25x10 10 59| 9536 12 | M6x0.75] 101 14
LH30BL | 42 1246 o | M8x1.25x8 o8l 19 |33 Pl
LH30BN | 45 ' M8x1.25x10 36 10
LH35AL | 48 M8x1.25x8 38.5 8
109 50 80 (15
LH35AN | 55 M8x1.25x12 455 15
LhaseL | 48 | 90|18 |70 10 | mextase |10 || [sss| 10| MOOTS g T
LH35BN | 55 M8x1.25x12 455 15
LH45AN 139 60 105| 22.5
70 | 14 |205]| 86 60 M10x1.5x17 | 13 56 |17 | Rc1/8 | 20|13
LH45BN 171 80 137| 28.5
LH55AN 163 75 126| 25.5
80 | 15 |235/| 100 75 M12x1.75x18 | 12.5 65 |18| Rc1/8 |21|13
LH55BN 201 95 164| 34.5
LHB5AN 193 70 147| 385
9 | 16 315|126 76 M16x2x20 |25 74 | 23| Rc1/8 | 19(13
LHE5BN 253 120 207|435

A43




BLH AL
BN AN
Meo
T
L ) L
\ »
N Jr J
M
wnl | o =
Ll i
.
G nXF ’ (G} |
Lo i
BEfi : mm
BETRY EXRETEEH RFKERE )
BUE B BE| 2RIl G |mAme|DEREE BEEEE BETIE AR
| Lomax c Co | Mo [Meo | My | Do o) |kgim)
W, H, | F | axDxh | B, |FER)| (N) (N-m) 9|9
2000 | 10800| 20700 | 108 | 95 | 80 0.18
15 | 15 |60 [45x75X53] 75 | 20 |~ o 3.175 16
(1800) | 44600 | 32000 | 166 | 216 | 181 0.26
3960 | 17400 | 32500 | 219 | 185 | 155 0.33
20 | 18 |60 |6x95x85 | 10 |20 | 3.968 26
23500 | 50500 | 340 | 420 | 355 0.48
3960 | 25600 | 46000 | 360 | 320 | 267 0.55
23 | 22 |60 |7X11x9 | 115 |20 |o o0 4.762 36
34500 | 71000 | 555 | 725 | 610 0.82
. 31000 | 51500 | 490 | 350 | 292 077
28 | 26 | 80 |9x14x12 | 14 | 20 3288 5.556 52
(3500) | 46000 | 91500 | 870 | 1030 | 865 13
47500 | 80500 | 950 | 755 | 630 15
34 | 29 | 80 | 9x14x12 | 17 | 20 | 4000 6.350 7.2
61500 |117000| 1380 | 1530 | 1280 24
81000 [140000| 2140 | 1740 | 1460 30
45 | 38 [105[14x20x17|225|22.5|3990 7.937 12.3
99000 [187000| 2860 | 3000 | 2520 29
119000{198000| 3600 | 3000 | 2510 47
53 | 44 |120 [16Xx23x20(26.5| 30 |3960 9.525 16.9
146000|264000| 4850 | 5150 | 4350 6.1
181000|281000| 6150 | 4950 | 4150 77
63 | 53 |150(18X26%x22|31.5| 35 |3900 11.906 243
253000(410000| 8950 | 10100 | 8450 10.8

Ad4




| LH A5 (RERER)

LH—EL (KB &)

LH-GL (BXE&HZ)

- HERREMIERRR GIELE)
LH35 0840 EN C2-PNZ0 II

tE Tmf;m%ﬁ - S RREIR
BERE(mm) TR - 20 ¢ RN
BIRTIRFTEE - Z1: pTER —
MRAIREN LB RERA2E) 23 HHE <k N
PG RERTE BB (SBA2KI-3 - 1 A26FI—4 - 2) le
K REBER
({BRLH15~30)
EIRBNZIBRY
*®I-5-2
HEMRY BERYT
=5 =5E EE ZRIFHRIL HIE
R
H | E|[W | W] L B J | Mx@EEx! | B |L | K |T| 283 |T. | N
LH15EL 55 39| 45
24 | 46 |16 | 47 38 | 30 |M5x08x8 |45 194 8 ¢3 | 45|33
LH15GL 74 58| 14
LH20EL 69.8 50| 5
30 | 5 |215]| 63 53 [ 40 |[Mex 1x10 | 5 25 [10|M6x0.75| 5 | 11
LH20GL 91.8 72| 16
LH25EL 79 58| 6.5
36 | 7 |235] 70 57 | 45 | M8x1.25x16 | 65 29 |11|M6x0.75| 6 | 11
LH25GL. 107 (M8x1.25x12) 86 | 20.5 (12)
LH30EL 98.6 72| 10
42 | 9 |31 |90 72 | 52 |[M1ox15x18| 9 33 [11|M6%x0.75] 7 |11
LH30GL 124.6 (M10x1.5 X 15) 98| 23 (15)
LH35EL 109 80| 9
48 | 95 | 33 100 82 | 62 |M10x15x20| 9 38.5(12|M6x0.75 8 | 11
LH35GL 143 114| 26
LH45EL 139 105| 12.5
60 | 14 |37.5[120 100| 80 | M12x1.75%24| 10 46 [13] Rc1/8 [10]13
LH45GL 171 137| 28.5
LHS55EL 163 126| 15.5
70 | 15 | 435|140 116| 95 |M14x2x28 |12 55 [15| Re1/8 [11|13
LH55GL 201 164| 34.5
LH65EL 193 147| 185
90 | 16 [535[170 142|110 | M16x2%x24 | 14 74 |23| Rc1/8 19|13
LH65GL 253 207| 485
LH85GL| 110 | 18 | 65 |215|303|185| 140 | M20x25%30 | 15 |243|51.5| 92 [30| Rci/8 |23|13

ERANRTERRTHERES -
LHBSIRETEEECER °

A45



GLA# EL#I
Mro
P
I L
Ly Ly
ﬂ i J N J1, J
. " S
b - L ' e &
i = " A AN -
[ — = T3 EE ===
Lea
.
G nx F (G)
Lo
B8fi7 : mm
BORY HEAEEEE RGEE BE
BIE | BUS| 9| TR G |mrmm|UEBEE FERTE BRETIRE B | B0
Lomax | C Co | Muo | Mwo | My | Du o e
m
w, H, | F | axpxn | 8, |VER| s N N-m) (Kg) | (Kg/m)
2000 10800 | 20700 | 108 95 80 0.17
15 15 60 [45X75%X53| 75 | 20 (1800) 3.175 16
14600 | 32000 | 166 216 181 0.25
3960 17400 | 32500 | 219 185 155 0.45
20 18 60 | 6X95%x85 | 10 | 20 (3500) 3.968 26
23500 | 50500 | 340 420 355 0.65
3960 25600 | 46000 | 360 320 267 0.63
23 22 60 | 7X11X9 15| 20 (3500) 4,762 3.6
34500 | 71000 | 555 725 610 0.93
4000 35500 | 63000 | 600 505 425 12
28 26 80 |9x14x12 | 14 20 (3500) 5.556 52
46000 | 91500 | 870 1030 865 16
47500 | 80500 | 950 755 630 1.7
34 29 80 |[9x14x12 | 17 | 20 | 4000 6.350 7.2
61500 |{117000| 1380 | 1530 | 1280 24
81000 | 140000| 2140 | 1740 | 1460 3.0
45 38 105 14%X20%x17 |22.5[22.5| 3990 7.937 12.3
99000 | 18700 | 2860 | 3000 | 2520 39
119000|198000| 3600 | 3000 | 2510 5.0
5 44 120 (16X23X20(|26.5| 30 | 3960 9.525 16.9
146000({264000| 4850 | 5150 | 4350 6.5
181000({281000| 6150 | 4950 | 4150 10.0
63 53 150 18X26X22(315| 35 | 3900 11.906 24.3
235000({410000| 8950 | 10100 | 8450 14.1
85 65 |180 24X35X28 (425 | 45 | 2520 |345000({585000| 17300 | 17400 | 14600 |14.287| 24.5 | 38.3

A46



LH %51 (FREZ{REE

)

LH-EM
LH-FL
LH-GM
LH-HL

- REREm

(REa#HH)
(BREa®s®)
B EfE R GTEEE)

LH35 0840 FL C2-PNZ0

I
BERE(mm)
TBIRFZARTT 5%

MEFIREN L3RS RA265H)

- C: IRERMR

K REEIE

1I
IRER—%  ERHRBER

AR - 20 ¢ (RIS
PARETS -
<23 AR

BERR (BRA22%KI-3 - 1 A26%I-4 - 2)

W 4- (Mx1)
8 8 Q2
i) e
.8 EM-GMH!
W Wi .
Mo
/\
w 4-9Q%[
8, B !

({2BRLH15~30)
K]
EIRBNZIBRN Mm(:; H
£|
*£1-5-3
MERRY BIRRY
= =5 EE ZRIBHRIL SHE
R
H|E |W |W]| L B| J Qi xl Q | B |L | i K | T| ZR3L|T,|N
CHABEL TBx7 =
55 39| 45
LH15EM | 54 | 46 [16 | 47 38 (30| MSX0.8x7 |44, 194| 8| ¢3 |45(33
LH15HL 74 4.5x7 58|14
LH15GM M5x0.8x7 | 4.4
CH20FL 6x9.5 =
69.8 50| 5
LH20EM | 5, 215/ 63 53[40| MEx1x9.5 |53/ 5 25 |10 |M6x0.75| 5 | 11
LH20HL o918 6x9.5 72116
LH20GM : M6x1x9.5 | 5.3
LH25FL 7x10(7x11.5)
79 M8x1.25x10 | ~ 58| 6.5
LH29EM ) 23.5| 70 57| 45 (M8x1.25x11.5) 681 29 |11 |mex0.75| 6 | 11
LH25HL : 7x10(7x11.5) ; (12) '
107 M8x1.25x10 | ~ 86 | 20.5
LH25GM M8x1.25x11.5) 68
LH30FL 9x12(9x14.5) |
0 98.6 M10x1 5xi2 | 72|10
(M10x1.5x14.5) 8. 11
LsorL | 42 31 | 90 7252 (0 oomas | | ° 33 | 1h|mex0.75] 7 | 11
1246 M10x1.5x12 98 | 23
LH30GM (M10x1.5x14.5)| 8.6
CH35FL 109 9x13 = sl o
LH35EM | 48 | 9.5 [33 | 100 82 |62/ MAOXA.5X1SEI816 g 385 |12 | M6x0.75| 8 | 11
LH35HL 143 9x13 114 26
LH35GM M10x1.5x13 | 8.6
CHA5FL T1x15 =
139 105 12.5
LH45EM | 6 | 14 [37.5/120 100| 8o |M12x1.75x15110.5) 4, 46 13| Rc1/8 |10 13
LH45HL 171 11x15 137|285
LH45GM M12x1.75x15 |10.5 :
CH55FL 14x78 =
163 126| 15.5
LHSSEM | 70 | 15 (435|140 116| 95 | M14x2.0x18 |12.5) 4, 55 | 15| Rc1/8 | 1113
LH55HL 201 14x18 164|345
LH55GM M14x2.0x18 |12.5 :
CH65FL 16x24 =
103 147|185
LHGSEM | o9 | 16 |53.5/ 170 142|110 M16x2.0x24 |14.6) 4, 74 | 23| Rc1/8 |19]13
LH65HL 263 16x24 207| 48.5
LH65GM M16x2.0x24 |14.6 :
LH85HL |110| 18 |65 |215| 303 |185|140]  18x30 — [ 15 |243[515]92 |30| Rc1/8 | 23|13
FESRPINR TERE R HEE -
LHBSRETHABEZER -

A47



G n x F
Lo e
E{i] : mm
BERY EXRETEEH RREE| BEE
BUE |E9S| RME| ZRERIL G |prmm DEREE FEREE APRETIRE | An
| | €] Co o [ Mo | Mo | Du i e
w, H, | F | axpxn | B, [CEB|um Ny - m) K} |(Kg/m)
2000 | 10800 | 20700 | 108 | 95 | 80 0.17
15 | 15 | 60 [45x75X53| 75 | 20 | ;g0 3.175 16
14600 | 32000 | 166 | 216 | 181 0.25
a960 | 17400| 32500 | 219 | 185 | 155 0.45
20 | 18 | 60 | 6X95X85| 10 | 20 | ag0n) 3.968 26
23500 | 50500 | 340 | 420 | 355 0.65
25600 | 46000 | 360 | 320 | 267
—— 0.63
23 | 22 |60 |7x11x9 [115|20 |mean, 4.762 36
34500 | 71000 | 555 | 725 | 610 0.93
35500 | 63000 | 600 | 505 | 425
4000 12
28 | 26 | 80 |9xtax12 | 14 | 20 |5en0 5.556 52
46000 | 91500 | 870 | 1030 | 865 16
47500 | 80500 | 950 | 755 | 630 17
34 | 29 | 80 |9xi4xi2 | 17 | 20 |4000 6.350 7.2
61500 | 11700 | 1380 | 1530 | 1280 24
81000 |140000| 2140 | 1740 | 1460 30
45 | 38 |105|14x20x17 |225 |22.5 |3990 7.937 12.3
99000 |187000| 2860 | 3000 | 2520 39
119000[198000| 3600 | 3000 | 2510 50
53 | 44 |120[16x23%20|26.5| 30 | 3960 9.525 16.9
146000{264000| 4850 | 5150 | 4350 65
181000(281000| 6150 | 4950 | 4150 10.0
63 | 53 |150|18x26x22|31.5| 35 | 3900 11.906 24.3
235000(410000| 8950 | 10100 | 8450 14.1
85 | 65 | 180|24x35%x28|425| 45 | 2520 345000585000 17300 | 17400 | 14600 |14.287| 24.5 | 38.3

A48




LH &5 (B4 )

LHRIIRT & (BIEER)
LAH-AL 1

[ATA (KEHR)

LABL (examE)

- RERAZTENEIRITERER AMESLR -

®1-5-4
HERRY BRRY
e = =5E | EE Z RIS

H E W, w L B J MXEEE X/ B L, Ji K T
LAH15AN 55 39 6.5

28 46 9.5 34 26 26 M4x0.7x6 4 23.4 8
LAH15BN 74 58 16
LAH20AN 69.8 36 50 7

30 5 12 44 32 M5x0.8x6 6 25 12
LAH20BN 91.8 50 72 11
LAH25AL 36 M6x1x6 29
LAH25AN | 40 7 125 | 48 79 35 35 M6x1x9 65 58 1S 33 12
LAH25BL 36 ’ 107 50 M6x1x6 . 86 18 29
LAH25BN | 40 M6x1x9 33
LAH30AL 42 M8x1.25x8 33
LAH30AN | 45 9 16 60 856 40 40 M8x1.25x10 10 59 95 36 14
LAH30BL 42 124.6 60 M8x1.25x8 98 19 33
LAH30BN | 45 ' M8x1.25x10 36
LAH35AL 48 M8x1.25x8 38.5
LAH35AN | 55 95 18 70 102 50 & M8x1.25x12 10 e 15 455 15
LAH35BL 48 : 143 72 M8x1.25x8 114 | 21 38.5
LAH35BN | 55 M8x1.25x12 455
LAH45AN 139 60 105 | 225

70 14 20.5 86 60 M10x1.5x17 13 56 17
LAH45BN 171 80 137 | 28.5
LAH55AN 163 75 126 | 25.5

80 15 235 | 100 75 M12x1.75x18 12.5 65 18
LAH55BN 201 95 164 | 34.5
LAHB5AN 193 70 147 | 38.5

90 16 31.5| 126 76 M16x2x20 25 74 23
LAH65BN 253 120 207 | 485

A49




NSK |

BLA!
BNA!I

{7 : mm
EXETEEEH BRERE 58
beahipizelii=pe iz KN ENREREEEME | FRREEEE FREIRE aiE
7
c Co Mo Meo Mo Dy
oA
=& T, N (N) (N« m) (Kg)
10800 20700 108 95 80 0.18
¢3 85 3.3 3.175
14600 32000 166 216 181 0.26
17400 32500 219 185 155 0.33
M6X0.75 5 11 3.968
23500 50500 340 420 355 0.48
25600 46000 360 320 267 0.55
M6x0.75 10 11 4.762
34500 71000 555 725 610 0.82
35500 63000 600 505 425 0.77
M6X0.75 10 11 5.556
46000 91500 870 1030 865 13
47500 80500 950 755 630 15
M6X%0.75 15 11 6.350
61500 117000 1380 1530 1280 241
81000 140000 2140 1740 1460 3.0
Rc1/8 20 13 7.937
99000 187000 2860 3000 2520 39
119000 198000 3600 3000 2510 47
Rc1/8 21 13 9.525
146000 264000 4850 5150 4350 6.1
181000 281000 6150 4950 4150 77
Rc1/8 19 13 11.906
235000 410000 8950 10100 8450 10.8

AS50




| LH RS (ERbER)

LAH—-EL (KB &)
LAH-GL (BXEHZ)
- BEBATENEIRITEREMI AR -

FI-5-5
HERRY BIRRY
o |BE wE | BE ZREHID

H E A w L B J MXEEE X/ B, L, J K T
LAH15EL 615 39 45

24 46 16 a7 38 30 M5X0.8X8 45 19.4 8
LAH15GL 74 58 14
LAH20EL 69.8 50 5

30 5 215 | 63 53 40 M6X1X10 5 25 10
LAH20GL 91.8 72 16
LAH25EL 79 58 6.5

36 7 235 | 70 57 45 MB8X1.256X 16 65 29 11
LAH25GL 107 (M8X1.25 % 12) 86 | 205 (12)
LAH30EL 98.6 72 10

42 9 31 30 72 52 M10X15%18 9 33 11
LAH30GL 124.6 (M10x 1.5 x15) 98 | 23 (15)
LAH35EL 108 80 g

48 9.5 33 | 100 82 62 M10Xx 15%X20 9 385 12
LAH35GL 143 114 | 26
LAH4S5EL 139 105 | 125

60 14 375|120 100 | 80 M12x1.75x 24 |10 46 13
LAH45GL 171 137 | 285
LAHS5EL 163 126 | 155

70 15 435 | 140 116 95 M14X2X28 12 S15) 15
LAH55GL 201 . 164 | 34.5
LAH65EL 193 147 | 185

90 16 535|170 142 | 110 M16x2x24 14 74 23
LAH65GL 253 207 | 485

EERANRTERR SR -

A51



NSK |

ELAY GL#Y

R
PA

1] JAPAN

{7 : mm
EXBEEH RREE 2
BRI EREEEEME | FFRRERERE FPREI%E B8
/
. @ co Mno MPO Mvo Dy,
ZHE3 T, N N N-m) (Kg)
10800 20700 108 95 80 0.17
3 45 | 33 3.175
14600 32000 166 216 181 0.25
17400 32500 219 185 155 0.45
M6x0.75 5 11 3.968
23500 50500 340 420 355 0.65
25600 46000 360 320 267 0.63
M6x0.75 6 11 4.762
34500 71000 555 725 610 0.93
35500 63000 600 505 425 12
M6X0.75 7 11 5.556
46000 91500 870 1030 865 1.6
47500 80500 950 755 630 17
M6x0.75 8 11 6.350
61500 117000 1380 1530 1280 24
81000 140000 2140 1740 1460 3.0
Rc1/8 10 13 7.937
99000 187000 2860 3000 2520 39
119000 198000 3600 3000 2510 5.0
Rc1/8 11 13 9.525
146000 264000 4850 5150 4350 6.5
181000 281000 6150 4950 4150 10.0
Rc1/8 19 13 11.906
235000 410000 8950 10100 8450 141

A52



LH &5 (B4 )

LAH-EM s 7
CATCE (KE®E)
AL (BxEER) 1
 BSRAVEMERLERERZABRE .

Hi K|
E]
*®I-5-6
MERRY BRRY
P = wE | BE ZRERT
Qi xlI
HlE | wlw]| L |Bl|JY W% | Q | B | L | 4 | K | T
CAHT5EL T5x7
55 39 | 45
LAH1SEM| 5y | 46 |16 | 47 38 |30 | MSx0.8x7 144 g 194 | 8
LAH15HL 4 4.5x7 s | 12
LAH15GM M5x0.8x7 | 4.4
o wof [ witas Jso], | ]
LAH20HL | 30 5 21.5 63 91.8 53 | 40 6x9.5 - 5 79 16 25 10
LAH20GM : M6x1x9.5 | 5.3
LAH25FL 7x10(7x11.5)
79 M8x1.25x10 | — 58 | 65
LAHRSEM o | 7 (288 | 70 57 | 45 |(M8x1.25x11.5) | 6.8 | 29 |
LAH25HL : 7x10(7x11.5) ; (12)
107 M8x1.25x10 | — 86 | 205
LAH25GM (M8x1.25x11.5) | 6.8
LAH30FL 9x12(9x14.5) | _
L AH30EM 98.6 (M|v1|100>§155>&25) oe 72 | 10
x1.5x14. . 11
ansonl | 42| @ |81 | e 72|52 | oomias | | ° 3| 43
124.6 M10x1.5x12 98 | 23
LAH30GM (M10x1.5x14.5) | 8.6
TAH35FL 9x13 =
109 80 | 9
LAHSSEM| 48 | 95 |33 | 100 g2 | 62 | M10x1.5x13 186 | 4 385 | 12
LAH35HL 143 9x13 114 | 26
LAH35GM M10x1.5x13 | 8.6
CAH45FL T1x15 =
139 105 | 125
LAH45EM| 60 14 | 375 | 120 100| 80 | M12x1.75x15 110.5| 44 46 | 13
LAH45HL 171 11x15 137 | 285
LAH45GM M12x1.75x15 _|10.5 :
CAH55FL 14xT8 =
163 126 | 155
LAHSSEM| 7o |15 | 435 | 140 116| 95 | M14x2.0x18 [12.5/ 4, 55 | 15
LAH55HL 201 14x18 164 | 345
LAH55GM M14x2.0x18 |12.5 :
CAHG5FL T6x24 =
193 147 | 185
LAHBSEM| g5 |16 | 535 | 170 142 [110| M16x2,0x24 114.6| 4 74 | 23
LAHB5HL 263 16x24 207 | 485
LAH65GM M16x2.0x24 |14.6 :
LAH85HL | 110 |18 | 656 | 215 | 303 | 185|140 18x30 -~ |15 [ 243 [515 |92 | 30
ESEANR TEARRHES -

AS53



NSK |

EMY GMZ!
FL# HL

Ef] : mm
EXEEEH RHEE | =8
ERSTHIL | BEEEE | BERTEE BEE%E -—
e c Co Moo | Mo | Mo Dy o)
ZEL |71, | N ) (N-m) ’
10800 20700 108 95 80 0.17
3 45 | 33 3.175
14600 32000 166 216 181 0.25
17400 32500 219 185 155 0.45
M6x0.75 5 11 3.968
23500 50500 340 420 355 0.65
25600 46000 360 320 267 0.63
M6x0.75 6 11 4.762
34500 71000 555 725 610 0.93
35500 63000 600 505 425 1.2
M6x0.75 7 11 5.556
46000 91500 870 1030 865 1.6
47500 80500 950 755 630 1.7
M6x0.75 8 11 6.35
61500 117000 1380 1530 1280 24
81000 140000 2140 1740 1460 3
Rc1/8 10 13 7.937
99000 187000 2860 3000 2520 3.9
119000 198000 3600 3000 2510 5
Rc1/8 11 13 9.525
146000 | 264000 4850 5150 4350 6.5
181000 281000 6150 4950 4150 10
Rc1/8 19 13 11.906
235000 | 410000 8950 10100 8450 14.1
Rc1/8 23 13 345000 585000 17300 17400 14600 14.287 24.5

A54



LH &5 (B4 )

LHRIIE BRI R(ERITER)

RIBRIRRH

BB GEEESNH :

L1 H301000S Z
T’ﬁ't‘ﬁﬁ@ (7 R BRI
TR FHEEER S BHBKE : mOR
RIIZHE. BIREMM)(ZBA295A - |- 4. 2B BNIEEBET MARKER —BxX)
RY#wmak
EREEBINSE  BLINSKEH -
xY)
B f ;
Hy E
od
£
G n x F G)
Lo
®I-5- B8]+ mm
BORY 2
ke BOE | BOS Bl ZHRIZERI, G BARE B
W, H, F dx DX h B, () Lomax (Kg/m)
L1H15 15 15 60 45%75%X53 7.5 20 2000 16
L1H20 20 18 60 6X9.5%X85 10 20 3960 26
L1H25 23 22 60 7X11x9 1.5 20 3960 3.6
L1H30 28 26 80 9X14X12 14 20 4000 52
L1H35 34 29 80 9x14x12 17 20 4000 7.2
L1H45 45 38 105 14X20%17 225 225 3990 12.3
L1H55 53 44 120 16X23X20 26.5 30 39860 16.9
L1H65 63 53 150 18X26%22 315 35 3900 243

HEHBIAIRE - GRIR1/2F-05 -

AS55




	A42
	A43
	A45
	A47
	A49
	A51
	A53
	A55

